Total

No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5504]-101

Time :

N.B.

M.A. (Part I) (I Semester) EXAMINATION, 2019
ECONOMICS
(EC-101 : Micro Economic Analysis—I)
(2008 PATTERN)

Three Hours Maximum Marks : 80
:— (1) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iizt) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Answer any one in 500 words : [20]

(1) Explain fully the nature, scope, importance and limitations of
Micro Economics.

(2) Discuss in detail the basic economic problems of scarcity and

choice.

Answer any one in 500 words : [20]
(1) Explain fully the law of Demand.
(2) Explain Price and Income effect with the help of Indifference

curve.

Answer any two in 250 words : [20]
(1) Explain the revealed preference theory of demand.
(2) What is meant by elasticity of demand ? What are the types
of Income elasticity of demand.
(3) Discuss the law of variable proportions.
(4) Give various types of costs of production.
P.T.O.



4, Write short notes on (any four) : [20]
(1) Fuctions of Price Mechanism
(2) Cross elasticity of demand
(3) Internal economics and diseconomics
(4) Cobb. Douglas Production function
(5) Average, Marginal and Total Revenue
(6) Statics and Dynamics.

(TS BUIaR)
% : W q™ THUT T : 80
o — (i) Td WA e
(i) SIFS® SiF Yo U eFifeadm.
(iii) SW AHHI (U1 S SFAHE(.
(iv) SAEI® dd gk Akl DIl
(v) TSHEIS Yoo TUSH YYAUTAHRT URTEl.

1. Tellddsl HIAEE Tl J9E 500 IR SWfae [20]
(1) g&9 RS @&y, AW, Hgw SN FIRl giae) e .
(2) HOd oTfYw Wl qURieeR == &

2. Welicis! HIVER! TRl Y= 500 ¥&ad Sw faar [20]
(1) wrofer fem gfos® s 9.
(2) FHT TN WiedM foeua ST I gRome TR &

3. el YAl Yol 250 Igid S felRl (PRl &) e [20]
(1) [l Yhe UGl faga T &
(2) HITUIET Tafdehdl WS i 2 AN S oldrdehad WhR U 2
(3) o yHmTen fEmeEl ==l &
(4) 3OEA TEE fafgy ywER - G

[5504]-101 2



4, dreR@ du fa@ (SR 9R) [20]
(1) foma o= wrd
(2) HETU=R ®deh  Aafdehdl
(3) of@id s=dl offor die
(4) HIFI-STAH IARA e
(5) wUHd, Hwia smfor T uTwdt
(6) fTeadmm snfor wdwm  SAefvme.

[5504]-101 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5504]-102

MA. (Part I) (I Sem.) EXAMINATION, 2019
ECONOMICS
(EC-102 : Public Finance)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]

(1) Discuss the role of Government in organised society and mixed
economy.

(2)  Critically examine Bowen and Lindhal model of benefit appraoch

to taxation.

2. Answer the following questions in 500 words (any one) : [20]
(1) Explain the ‘Ability to Pay prnciple’ of taxation.
(2) What is taxable capacity ? Explain the determinants of taxable

capacity.

3. Answer the following questions in 250 words each (any two) : [20]
(1) Explain the types of Incidence of tax.
(2) Explain the Wagner’s law of public expenditure.
(3) Explain the pure theory of public expenditure.
(4) Explain the classification of Public Debt.

P.T.O.



4, Write short notes on (any four) : [20]
(1) Fiscal functions of the Government
(2) Private goods and Public goods
(3)  Shifting of Tax Incidence
(4) Repayment of public debt
(6) Wiseman-Peacock Hypothesis

(6) Social cost-benefit analysis.

(W& wUia)
q%5 : W A THUT T : 80
g — (i) |d YA e
(7)) SwEESA siw q o .
(iii) TRVEE TS TUST YEAULART el
(jv) SW THGKI o HLge ITHMEd.

1. @eid JeEt 3 500 vk[ foasl (hIvdEl TeR) [20]
(1) Thy sd=maa snfn el TaSeeRdd IMEArEAl yfHeshdred ==l
Egif

(2) SR S fdeeren ey gRIGH YfHHN Ihicas e 6.

2. Wi 9eEl IR 500 veE@ Rl (AR @) [20]
(1) SR ‘Hed &Hdl 9’ W H.
(2) HWI UFA WIS HE ? HQI UFA SAUR TEEh TR H

3. Wil YeAEl Yo 250 eid Sw fote (WivEEl @F) [20]
(1) HYNE YR T H.
(2) gEwE TEET IR AT faga TR &
(3) WENTh TEEl s GGM TR H

(4) HESE Hod TR0 T .

[5504]-102 2



4, gedd du fag (S = w)

(1)
(2)
(3)
(4)
(5)
(6)

[5504]-102

AT TSienTeiE e
T 9% S WESe o
AR GehH

[ [SaY ~
qresiTeh  Hoel  TAhS
aTgSH-fehier  T&EId

TSR -y faga.

[20]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [55041-103

M.A. (Part I) (Sem. I) EXAMINATION, 2019
ECONOMICS
EC-103 : Agricultural Economics
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]
(i) Discuss the place of agriculture in Indian Economy.

(it) Evaluate the progress of Indian agriculture during the period
of five year plan.

2. Answer the following questions in 500 words (any one) : [20]
(i) Discuss the “farming as a business or way of life”.

(ii) What is food security ? Explain the problems of food security
in developing countries.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the impact of ‘Self-Help Group’ on agricultural
credit.

P.T.O.



A% :

AT

(iz) What are the problems of agricultural marketing in India ?
(iti) Discuss the scope of agricultural management.

(iv) Explain the present status of Bio-technology.

Write short notes on (any four) : [20]
(i) Report of Dr. Radhakrishna Committee

(it) Types of Agricultural Marketing

(iii) Issuses of Livestock

(iv) The scope of Hybrid Seeds

(v)  Agricultural Productivity

(vi) Non-Agricultural Rural Credit Institutions.

(TS wUIa)
W THUT TUT : 80
— () W& Y Heen
(ii) S9ERSA 3Tk YO U ufodma.
(iii) USHHIS Tos TUSH UYAUAR] TRE.
(jv) W FAHRI 9 YeHe AHE.

@it Y=l IR 500 vk fofer (vt wer) [20]
(i) YRdE sdFaedde Ude T afawl == &

o0 N

(i) d=eNtieh AN Pleoldid YRAE el WA Jedddd .

Wl el S 500 Iec fof@l (hIvEl Teh) [20]
G) Y w Tk Haa™ fear fSem SuamEn ont R ==t &L

(i) 3 P& WIS &M@ 7 fomesiia Sumdial sTgRafasi=n  aHen
e .

[5504]-103 2



3. Tl gyl SW Ykl 250 vSd foel (Hivkgt d@e) [20]

(i) Ffu faaqEcw e ‘wWIH EerEdl’ el URum TR &

(i) HRAdIA $fY fouuHRal 991 S 3Rd ?

({ii) PN FALAYAT AT ded Fdf .

(Gv) g Al gdae et e .

4. deq@ du fa@ (FOEE 9n) [20]

faY

(i) Sl USRS S A
(Gi) Ve fouoHren Tsd

({i7) URIEATAT WRA

(jv) Hwia fosmeEt =
(v) IET SAGH
(vi) TRt T gAqTEEl .

[5504]-103 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [5504]-104
M.A. (Part I) (I Semester) EXAMINATION, 2019
ECONOMICS
(EC-104 : Indian Economic Policy)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.
(iit) Answer should be precise and to the point.
1. Answer any one of the following questions in 500 words : [20]
(i) State the nature of poverty in India. Explain the recent policy

(11)

of Central Government to eradicate poverty in India.

Critically evaluate the Economic Reform Policy in India.

2. Answer any one of the following questions in 500 words : [20]

(@)

(11)

Critically examine the education policy of the control government
of India. What are major problems of education in India.

Explain the characteristics of Labour Market in India.

3. Answer any two of the following questions in 250 words : [20]

()
(i1)
(iii)
(iv)

Explain the Health Policy in India.
Explain the nature of unemployment in India.
Explain the role of public sector in Indian Economy.

Explain employment generation programmes of government of

Maharashtra.
P.T.O.



4, Write short notes on (any four) : [20]
(i) Demographic features of Indian Economy
(ii) Problems of Indian capital market
(iti) Nature of liberalisation in India
(iv) Problems associated with privatization
(v) Problems of Small Industries in India

(vi) Problems of Agricultural Marketing in India.

(TS waie))
9% : dF A Tehut ToT : 80
ol :— (i) € WA Ewde ST
(i) 3S9Eiwel® @h U U SFifodr.
({ii) IW THHI 9 YLHT (.
(jv) TUEE Yoo TUST YvAUAHRT TRIE.

1. Weiid hIvdRl Teh Y=l 500 [ SWfagl [20]
(i) YRddel TG @WeY W #3. YRAdd <iied 93w ohy
IMEAE SAAhErd HAMAd YR T &
(i) YR sTfefer GUROM 4RO ehlceh  HoIHTIA .

2, Teld RIUARI Tk I 500 Ie@ Sw fomr e [20]
(1) YRAE s I Yo HRome e T Y. YRAnd
reome WeE™ Y &I sTRd 2
(i) YRAE FHENRE AT Tee &

3. Wield YeAEl YA 250 IS SWfaw (SveE 9F) [20]
(i) HRAME AR gR0 GiowR T HA
(ji) YRAd deRd @Y giaaR W &
(i) YRAE SAHFTIT eI GAEl YHA! TR R
(jv) TERME W&EREl YR FfHd wEfen == &1
[5504]-104 2




4, gEeq@ A fa@ (FOEE WR) : [20]
() YA sdeqewd=l wiehaen fasge  ofyrse

(ii) YA 9iedd SS=a1  9HE

(1ii) VA SThiune WEy

(jv) TSFHIOT= Geuidial  THEn
(v) YRAA oY U= GHE
(vi) YRAE FS fa9oE e

[5504]-104 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5504]-105

M.A. (Part-I) (First Semester) EXAMINATION, 2019

ECONOMICS
(EC-105 : Labour Economics)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :- (i) Attempt All questions.
(ii) Figures to the right indicate full marks.
(iii) Answer should be precise and to the point.
1. Answer the following questions in 500 words each (any one): [20]
(i) Explain the nature, scope and importance of Labour Economics.
(ii) Critically examine the “Modern Theory of Wages”.
2. Answer the following questions in 500 words each (any one): [20]
(i) Explain the nature of Labour Turnover in Industrial Sector in India.
What remedies are adopted by the government to reduce the Labour
Turnover?

(ii) What are the causes of Industrial Disputes?
3. Answer the following questions in 250 words each (any two) [20]

(i) Explain the causes of flexibility in Labour Market in India.
(ii) Explain the impact of Collective Bargaining in Wag determination.
(iii) Explain how Labour Absenteeism affects profitability of firm.

(iv) Discuss the role of tripartism in meeting the Industrial Disputes.

P.T.O.



4. Write short notes on (any four): [20]
(1) Scope of Labour Economics
(ii) Importance of Minimum Wages
(iii) Labour Migration and Problems in Industrial Sectors
(iv) Problems of Labour Unions in India
(v) Wage determination in unorganized sector

(vi) Exit Policy

(R8T FUIR)

9% : Ao : TEHUT 0T : 80
NI - (i) G T e,

(i) Sordiepeer 3ieh quf o7 S

(iii) SR A7 T [ege SN

(iv) TETEIST %5 ISiT T e Jerd.
1. Grelier T ST 500 STeaid 78T (PITE) Te) [20] .
(i) 5 rRNRET THY, SATH SATIOT HEea T v,
(i)  aTRAT MY g Sk TeT e,
2. Qeiel THiEY SR 500 TsSia fTeT (PIUTE) Oe) - [20]
() ARG 3ffEnfies Sarclier S SATGTeiT FaRaY TE T, 37 ScTlaTol BH! BRUINTEr
(i)  9IRAwd 3ifenfie Femr RO HRd?
3. TTele T ST 250 T6GTT foTeT (PR 3F) : [20]
() RAI SHESIRUSIET Sardpad eRor T . '
(i) oo Fifdcldier amfie diemerhiar yE Tow .
(i)  SERRICEEIT TR IR STARriET TR T Biar o T 3,
(iv) 3iEfie Pere Arsfavaras! Auel eamerear e ==t .
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4. JTSTITd <97 foTeT (PIUTEl OR) - [20]
() 5 SriurETE THY

(i) T ST W ,

(i) e TR nfor sitenfie derear SHwT

(iv) SR SF HECHTT T

(v) 3rFEcd darciier aaafAfAR

(vi) R eRor

[5504]-105 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5504]-106

Time :

N.B. :—

M.A. (Part I) (I Semester) EXAMINATION, 2019
ECONOMICS
EC-106 : Co-operation : Theory and Practice
(2008 PATTERN)
Three Hours Maximum Marks : 80
(1) Attempt all quesetions
(i1) Figures to the right indicate full marks.

(itz) Answer should be precise and to the point

1. Answer any one of the following questions in 500 words : [20]

(1)
(2)

Explain in detail the basic principles of co-operation.

Explain in detail the provisions of Maharashtra Co-operative
Act, 1960.

2. Answer any one of the following questions in 500 words : [20]

(1)

(2)

What is co-operative education and training ? Explain the objectives
and problems of co-operative training in India.

Give a brief account of progress of Urban Co-operative Banks
in Maharashtra. What are their weaknesses ? Suggest the measures

to eliminate it.

3. Answer the following questions in 250 words (any two) : [20]

(1)
(2)
3)
(4)

Explain the role of NABARD in rural credit in India.
Explain the features of Co-operative Socieities Act, 1912.
Discuss the weaknesses of Co-operative Movement in India.

Explain the need of International co-operative alliance.

P.T.O.



4, Write short notes on (any four) : [20]
(1) Need of Co-operative Supervision
(2) Problems of Co-operative Training
(3) Functions of Co-operative Auditor
(4) Primary Agricultural Co-operative Credit Societies
(5) Co-operative Movement in Germany

(6) Characteristics of Co-operation.

(W& wUIW)
9% : dF A Tehut ToT : 80
ol :— (i) §d WA AEwds  STed.
(ii) Sodi%hele Fh YU IO SFifedr.
({ii) JW THHI 9 HLHT FAHE(.
(jv) TRUEE Wb TUST YTAUAR! TRIE.

1. Teid 9eEEl W OYAHt 500 VIRM fa@l (FIVAR TEw) [20]
(1) HEhNET Haqd dw AlOR T
(2)  1960< HERIE HEhRl HASHMIA didal A& TR H.

2. Wl YAl I YS! 500 ¥ ol (SR Ueh) [20]
(1) Fehdt Toregur 9 gfoieon ®WoN g 7 ARAdG TghRE TTefum=h
SETR 9 e R &
(2) TRRIMA A HEdhRl kM=l Wil dieda TRl =1 &
M IO MRd ? N HHI KOAEEST U™ G

3. Wil YeAEl WAH! 250 Wi SW el (ke G [20]
(1) YR WHT gaqRaedrdial Aeedl YT T .
(2) TR W HEC 1912< IR T w7
(8) YRAIA HEhRl Todes=Al SUdrEl =E .
(4) STASEE el TeEearel TR W H.

[5504]-106 2



4, gewmE foo fagr (docE = w) [20]
(1) ¥ehlt TAefom=t  STavaehdl
(2) HEH TRIEOm=A A
(3) WeHN e UReshrEl wE
(4) WafHe FE TR TaEe
(5) HAHHA WEHN Fosdd
(6) HEhNET dfiTsel

[5504]-106 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5504]-107

M.A. (Part I) (I Semester) EXAMINATION, 2019
ECONOMICS
(EC-107 : MATHEMATICAL ECONOMICS)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.
(iit) Answer should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

1. Answer the following questions (any one) : [20]

(1) Find the inverse A=l for the following matrix :

4 2 5
A=3 1 8
9 6 7

(2) In a competitive market, a firm produces two products in the
amount Q; and Q9. The revenue function and the cost functions
are given as

R = P1Q + Py
C = 2Q¢2 + 2Q,2
where P, and P, are the prices of product one and two respectively.

Find the profit maximizing outputs.

P.T.O.



2. Answer the following questions (any one) : [20]

(1)

A two product firm faces the demand and cost functions

below :

Q =40 —2P; — Py, Qy =35 -P; - P, C = Q2 +2Q2 + 10

() Find the output levels that satisfy the first order condition
for maximum profits. (Use fractions)

(b) Check the second order conditions.

(¢) What is the maximum profit ?

(2) Find :
(@) The total revenue function and
(b) The demand function, given mR = 84 - 4Q - Qz.
3. Answer the following questions (any two) : [20]

(1)

(2)

(3)

[5504]-107

Find the values Py and P; by Cramer’s rule :
7Py + 2Py = 60
Py + 8Py = 78
Differentiate each of the following functions :
@ Y = 4«? - 3) (249

10x® —6x7

&Y = 2x

Find the “equilibrium” price and quantity for the following demand

and supply functions :

(@ Qg = — 20 + 3P
Qg = 220 — 5P
B Q = — 45 + 8P

Qg = 125 — 2P



(4)

(1)

(2)

(3)

(4)

(5)

(6)

[5504]-107

For each of the following functions, find the second-order derivative
and evaluate it at x = 3 :
(@ y = 1023 + 8x2 + 19
b) Ax) = 3x* + 5x3 + 6u.

Answer the following questions (any four) : [20]

Given the demand function Q = 600 — 8P; derive the inverse
demand function.
Solve : 3x + by = 34

x +y =8

Find determinant |A[;

2 5 2
for A = |1 4 3
7 2

A firm with sales of 150,000 a year expects to grow by 8
percent a year. Determine the expected level of sales in 6
years.

How much interest will be earned on Rs. 1250 for four years
at 12 percent ?

Find MR : if TR = 75Q - 4QZ2.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5504]-108

Time :

N.B. :—

M.A. (Part I) (I Semester) EXAMINATION, 2019
ECONOMICS
EC-108 : Demography
(2008 PATTERN)
Three Hours Maximum Marks : 80
(i) Attempt all questions.
(i1) Figures to the right indicate full marks.

(iizt) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) State and explain the theory of Demographic Transaction.
(2) What is meant by quality population ? Discuss the factors
affecting quality of population.
2. Answer any one the following questions in 500 words : [20]
(1)  Critically examine Family Planning Programme and state its
consequences in India.
(2) Elaborate the relationship between growth of population and
economic development.
3. Answer any two of the following questions in 250 words : [20]

(1)
(2)

3)
(4)

Critically examine the Malthus Theory of Population.

State and explain the policy regarding nutrition, education and
training in India.

Examine the population trends in recent years in India.

State the population explosion in world.

P.T.O.



4, Write short notes on (any four) : [20]
(1) Meaning and Importance of Demography
(2) Life Expectancy
(3) Women Empowerment
(4) Infant Mortality
(5) Optimum Population
(6) Gender Equality Ratio.

(W& wUIW)
9% : dF A Tehut ToT : 80
ol :— (i) §d WA AEwds  STed.
(ii) Sodi%hele Fh YU IO SFifedr.
({ii) W FHRI °d Hegs ST
(iii) WSHES HeB TUSH WYAUCAhT BTl

1.  Eeiicish! SR TRl Y9 W 500 I=E[ faar . [20]
(1) <egen %A fog| 9 a o &
(2) RUEIHl TUEA WUS & ? hdedeAl TUETeR Gond vk

HZH IV,
2, Weiadsl HIVEE TeT YR IW 500 VM fawr [20]
(1) YRAdd ped T Sriear fehrds qdem & ST &A™ qRardd
UM T

(2) d<REed gt 9 oNdfied fawa Imdta weueEh dfawR w=t @A

3. WClcish! SR gF YT IW 250 V| o [20]
(1) Wicad=al deden g fewrms whem &
(2) YRAde oiehien dvo SRR, fwaor efor gftier dwor @
(3) YRAMA dhderal Afaweld H@dia Ygdid e &

(4) A AR EE GERIE HIL

[5504]-108 2




(1)
(2)
(3)
(4)
(5)
(6)

[5504]-108

deRa I feel (Fvasl =|w)

AlREE ISl Ad 9 Ae™

A

etell oAl

RSP
T AhEE
fom IR ST

[20]



Total No

. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[56504]-201

M.A. (Part I) (Sem. II) EXAMINATION, 2019
ECONOMICS
EC-201 : Micro Economic Analysis-II
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(

(i) Attempt All questions.
(i1) Figures to the right indicate full marks.

ii1) Answers should be precise and to the point.

(iv) Draw diagrams wherever necessary.

1. Answer any one question in 500 words : [20]

(2)

State the features of perfect competition. How is price and
output determined under perfect competition.

(ii) What is Monopolistic Competition ? Explain equilibrium of the
firm and group under monopolistic competition.
2. Answer any one question in 500 words : [20]
(i) State the marginal productivity theory of distribution and its
critically examine.
(i1) Explain in detail Marriss managerial model of the firm.
3. Answer the following questions in 250 words each (any two) : [20]

(@)
(ii)
(ii1)
(iv)

Explain the game theory of oligopoly.
Explain Schumpeter’s theory of profit.
Explain Pareto’s optimality conditions.

Explain why price rigidity exit under oligopoly.
P.T.O.



4, Write short notes on (any four) : [20]
(i)  Superiority of IS-LM model
(it) Curnot’s model of oligopoly
(iti) Social welfare function
(iv) Selling cost
(v) Features of monopolitics competition

(vi) Risk and uncertainty theory of profit.

(TS T UIR)
9% : i q™ THUT TUT : 80
g — () Wd Yy diedn

(ii) TEvgh dY gk AhAl DI
({ii) SW T9hl o HLgS STHE.
(ijv) TEHHEEl H@B TUSH YRR TRTE.

1. Teliads! HITAR TRl JI= W 500 ¥&@ foa@r : [20]
() uoi wEE At orE, qof wda fewa sufor saeA ffvedt @
2.

(i) THRGRIgH WYl U ®E ? ARRRgH Wodd e e Saf
g 91 gudia W h.

2. WClcish! HIUARI TRl YT W 500 g ferer : [20]
() fawsEmEr H@ed SoRewar fagd 9E, @ dercas aREn &
(ii) WYY IUHEE HIAUHRE YiaAH  Gfasl T .

[5504]-201 2



8. Wi U3t Yokl 250 IS S g (RIUdEl ae): [20]

o S

(i) AAfThATYRNT /e fHgia e &

(i) e TwErEr faga e @

(ii) YU TIae ey W &L

(Gv) STcufashaiyerd fead deta sifdcd &1 Id 9 W 4.

4, Jedd A9 @ (IR |mw) [20]

(@) IS-LM 9%/ 9%3d

-0

(i) AT STHfhal ¥R FfadH

(iii) ISR Aol He

(iv) foehl @

(v) THRER I W Ay

(vi) wTE e 9 AHREdE fag.

[5504]-201 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5504]-202

M.A. (Part I) (Sem. II) EXAMINATION, 2019
ECONOMICS
EC-202 : Indian Public Finance
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any one of the following (in 500 words) : [20]
(i) What is Budget ? Explain the economic classification of budget.
(ii) State the public debt policy since, 1991.

2. Answer any one of the following (in 500 words) : [20]

(i) Explain the causes, effects and remedial measures of Indian

Fiscal imbalance.

(ii) Explain the interdependence of monetary and fiscal policies

in India.

3. Answer any two questions (in 500 words each) : [20]
(i) State the meaning and objectives of Deficit Financing.

(ii) Explain the nature and importance of automatic stabilizers of

Fiscal Policy.
P.T.O.



(ii1) Explain the provisions of transfer of resources from union to

states.

(fv) “Burden of public debt on Indian economy increasing”. Comment.

4, Write short notes on any four (in 100 words each) : [20]
(i) Balance budget multiplier
(it) Reforms indirect taxes
(zi1) Budget deficit
(iv) Presentation of budget
(v)  Automatic stabilizers

(vi) Trends in revenue of Local Bodies since 1991.

(& ®UIT)
% : dF A THUT TOT : 80

ol :— (i) W T Grefau Aeds e
(ii) oSl e U O it
(iii) USHHE Tes TUSH UYAUAR] TREl.

1. Tliadsl SR TR Y99 W fa@r (500 v=[) [20]
(i) ORNUSAR WIS ®@ ? SREUARM  AfdEw e e &

(i) 1991 UTd HeSeh HS RO G

2. WCliclish! IR TRl Y I forel (500 ¥esm@) [20]

(i) RAE USRS U=l ®RU, qRUmM o U™ T .

(i) YR IoFfasdes 9 TSafadd €R0 I WEREded T H.
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3. U SN YA SWfa@ (Y 500 VW) [20]
(i) qEren srdwuEaren ord effur 3fegse @
(ii) USRS gRUT= WEEda R wWEd oA Hege W .
(iii) HheThed TSAhES TGN BIOAT WIEA=A gal fowet == &
(fv) ‘'R sfHaeRld dESe wSiEl YR ded SR, ==l

4, HIUAE FARR diesad g fagt (I8t 100 IE[) : [20]

() {-ig,cdﬁlcl \'HQIWI‘-DIOh T0Th

(i) TG Hqdid FURON

(iii) wAduhedE e

(jv) STRSYARE  HEHHI

(v) EFEeta ferRs

(vi) 1991 UTAT TR WIS U= Hegardia go.

[5504]-202 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5504]-203

M.A. (Part I) (I Semester) EXAMINATION, 2019
ECONOMICS
EC-203 : Indian Agricultural Problems and Policies
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iizt) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(i) Explain the recent SEZ policy in India.

(ii) Critically examine the Employment Guarantee Scheme.

2. Answer any one of the following questions in 500 words : [20]
(i)  Assess the impact of Mechanization on Agricultural labour in
India.

(ii) State the recent Export-Import Policy of Vegetable and Fruits.

3. Answer the following questions in 250 words each (any two) : [20]
(i) Explain the record agricultural problems in India.
(i1) Explain the causes of low efficiency of agricultural labour in
India.
(ii1) Explain the impact of W.T.O. on Indian Agriculture.

(iv) Explain the problems related to agriculture subsidies.

P.T.O.



4, Write short notes on (any four) : [20]
(i)  Policy of Ceiling on Land holding
(ii) Problems of Agricultural Export
(iti) Efficiency of Service Sector and Indian Agriculture
(iv) Unemployment Problem related to Indian Agriculture
(v) EXIM Policy-2004
(vi) Agricultural Problems in Maharashtra State.

(AE wuiav)
q% : || A THUT T : 80
M :— () T WA SAeRIR  3TRd.
(ii) ISfiwSle FF YU U GEifar.
(iii) SW THH! 9 YLHS SEE.
(jv) TeUEE Yoo TUST YvAUCAHRT TRIET.

1. Tclcds! HIVAE Tew Y99 500 [ diedl [20]
() foom onfdes @ Hewid WefYdidiad YR &R0 T &
(i) TSR BH dioHd dehicde TU&0 &

2, Eoiade! ®UERE Teh I9T 500 V[ Ged [20]
(i) AARIEOTE 9RAE Td ASUER Soiedl IRUMH gedud .
(i) WU ST Hos A1 UHIIA STelichelal hIaId STEM-Taid &R
.

3, el YAl Wedehl 250 Wisgid S el (HIOeEl de) [20]
(1) AR AT STeflheld  dleoldial GHS T &
(i) YRAE VAU SToUHE  GHdEl HhRU TR HA
({ii) WIfdeh SAUR oAl YRAE Sdeda aRomm o9 &J.
(jv) Tl SHTA HeHld STeliheld Fl@Md THST T H.
[6504]-203 2




4. dm feer (SUdE @w) [20]
(i) U SHAERUIfISES  gRu
(ii) NdifosEes fEfq gRom=n g9
(fii) Qe &l wEegwar S WRdE St
(jv) YRAE e GSHld dhR=Al  AHE
(v) 2004 o SEE-frEfd &R
(vi) HERISIIA  TAdlfaoREeh  HHET.

[5504]-203 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5504]-204

M.A. (Part I) (I Semester) EXAMINATION, 2019
ECONOMICS
EC-204 : Industrial Economics
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt all questions.
(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(1) Write a detailed note on the various sources of Industrial Finance.
(2)  Critically evaluate the Sargent Florence Theory of Industrial

Location.

2. Answer any one of the following questions in 500 words : [20]
(1) State the causes of Industrial Imbalance. Explain the measures.
adopted by government to eliminate Industrial Imbalance.

(2) Discuss in detail the factors affecting industrial productivity.

3. Answer any two of the following questions in 250 words each : [20]
(1) Comment on the role and problems of public sector industries
in India.
(2) Write a note on the problems of small scale industries.
(3) Explain the factors influencing location of industries.

(4) Give a brief outline of the industrial policies prior to 1991.
P.T.O.



4, Write short notes on (any four) : [20]
(1) Role of Multi National Corporations in India
(2) Significance of the study of Industrial Economics
(3) Role of public sector banks in Industrial Finance.
(4) Progress of co-operative sector in India
(6) Difference between Mergers and Amalgamation

(6) Effects of industrial monopoly.

(TS B UIT)
% : i q™ THUT T : 80
ol — (i) € WA Eds ST
(i) 3SSeihele Fh qul U SFiforra.
(iii) SW THHI 9 YL ITEE.
(iii) WSHHEIS Hed TUSH WIAUCAhT gl

1. Telldds! HIAE Tl JE SW 500 ¥e[ faw [20]
(1) Sicfer faq qacaren fafay daer wfaww feu foamn
(2) St Tt ‘| W’ gren fagrar fedhos geam

F.
2., Weiiciis! HIVER! TRl Y™ SW 500 e[ faal [20]
(1) oiicfieh SToudieT=l &0 A Ol HH HOAEREH WEHRY U™
W H
(2) oHcifTh ScIEhdeR GAUUMH O Seshiel GfoX == &4
3, e Ul 250 V=M SWfaw (RvEE dF) [20]
(1) 9RAdA dESes A Searel el T 99& deR 9
F.

(2) Y SN TSR 9 &
(3) STUNTAT TAFRIONER THUMH SIOR SEh T .
(4) 1991 Yt=n siiceifis ¥Rt e Twen feral

[5504]-204 2




4, foor foer (@R 9R) [20]

(1) YR agUsid hyuarEl  fien

(2) Siiceifies IedvmET=n e T

(3) ofcefr fod Wacurdial WiESiUg &Il Sehiel iRt
(4) XA Ggh &Sl 9wt

(5) THAHRL F HIAMNHIO Idid  Tleh

(6) fclifTh wWedQR  gRom.

[5504]-204 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[56504]-205

M.A. (Part I) (I Semester) EXAMINATION, 2019

ECONOMICS
EC-205 : Rural Development
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following in 500 words (any one) : [20]

(2)

(11)

What is rural development ? Explain the scope and importance
of rural development.
Evaluate the contribution of irrigation and rural eletrification

in India’s rural development.

2. Answer the following in 500 words (any one) : [20]

(@)

(11)

Discuss the causes of rural poverty in India and what are
measures adopted by the Government of India.
State and explain the achievements of Swarna Jayanti Gram

Swarozgar Yojana.

3. Answer any two questions in 250 words each : [20]

(@)

(11)

(ii1)
(tv)

Explain the nature and achievements of Green Revolution in
India.

Explain the features of V.M. Dandekar approach of rural
development.

Explain the nature and causes of rural unemployment.

Evaluate the success of tribal development programme in India.

P.T.O.



4, Write short notes on any four in 100 words each : [20]
(i) Importance of rural development
(it) Marginal Farmers and Agricultural Labour Agency (MFAL)
(iii) Role and problems of rural transport
(iv) Role of Self Helf Groups (SHGs) in eliminating rural poverty
(v) Employment Guarantee Scheme (EGS)

(vi) Problems of Rural Electrification.

(AE wuiav)
q% : | A THUT TUT : 80
I — (i) |8 WA e
(i) SIS % Yo U Sifaa.
(iii) SW THHI A HLgE .

1. Teldds! IR Tl Y9E 3w 500 vk fae [20]
1) o foem wWus & ? WHY foRm S U " TR
<h .
(2)  vRareA WU fasMdd Safges ST fagdieomen AreH ade
.
2., Wciiciis! HIVER! TRl Y™ SW 500 e[ faal [20]

(1)  vRArde Wi SgerE == U i YRa ThRA SRE HH HIvarEret
WeRAd 3UF HId 2
(2) Fau TIA UM EWIAUSIR Al BALd G F T h

3. Weiicide! HIVAR S UTE Yol 250 VR SW foel [20]
(1) YR &d ®ide @89 9 HaAgd T A
(2) wWHY fowmEEEEa ®.UE. LR GRIGHET AT W .
(3) wfHur SUSIIRE W&y 3ol wRU s K.

(4) YRAE eTfcardt fowe ®EwA=N T qeauud &
[5504]-205 2




4, AR GRA diedd few faw (SR 100 WRE) [20]
(1) T foeEE A5
(2) TWHITHTLTA (MFAL)
(3) WfHU amEgehrEl fer SAfUr wEE
(4) WiH SE wH oA EE-wEad et e
(5) TSR wHl A
(6) IO fogfdehum=a  gHE.

[5504]-205 3



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [5504]-206

M.A. (Part I) (II Semester) EXAMINATION, 2019
ECONOMICS
(EC-206 : Computer Application in Economic Analysis)
(2008 PATTERN)
Time : 2% Hours Maximum Marks : 60
N.B. — (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iizt) Answers should be precise and to the point.

1. Attempt any one of the following : [1x15=15]
(1) Explain the working of online banking. What are the advantages

and disadvantages of online banking ?
(2) What is Internet ? Explain the different technical components

required for Internet.

2. Attempt any one of the following (A or B) : [1x15=15]
(A) (1) What is operating system ? Explain the services provided
by operating system. [8]

(2) Explain sorting and filtering of data in MS-Excel. [7]
P.T.O.



(1)
(2)

3)

(4)

(5)

[6504]-206

Or

(B) (1) What is topology in Network ? Explain any fwo network
topology with diagram. [8]
(2) Explain the difference between B2C and B2B business
model. [7]
3. Attempt any three of the following : [3x5=15]
(1) Explain the difference between Hardware, Software and Firmware.
(2) Explain any five features of windows operating system.
(3) What is electronic transaction ? What do you mean by T + 2
delivery transaction ?
(4) Explain the steps of creating chart in MS-Excel.
(6) Explain G2B and G2C business model with suitable example.
4, Attempt any three of the following : [3x5=15]

Explain the block diagram of a computer.

List any two applications from accessories group and explain
any one in detail.

Explain the impact of computer on education, business and
research.

Explain ‘sum’ and ‘if function used in MS-Excel.

What are the advantages and electronic stock exchange.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5504]-207

M.A. (Part I) (I Semester) EXAMINATION, 2019
ECONOMICS
(EC-207 : Statistical Techniques)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. — (i) Attempt all questions.

(ii) Answers should be precise and to the point.

(i) Use of non-programmable calculator is allowed.

(iv) Figures to the right indicate full marks.

1. Attempt only one : [20]
(a) Price of Commodity Supply
o) (x)
05 90
28 409
10 120
09 155
20 72
15 153
12 130
26 452
18 250
12 199

Find the elasticity of supply at (X,Y) for the above data.
P.T.O.



®)

2. Attempt any one :

(@)

(b)

3. Attempt any two :

(@)

[6604]-207

Show that the following distribution is platykurtic. Find the

kurtosis by any method known to you :

X
10
11
12
13
14
15
16

Y
05
10
20
30
20
10
05

[20]

Five students attend a class and get respectively 42, 39, 48,

60, 41 marks, seven other students attending another class
get marks 38, 42, 56, 64, 68, 69 and 62. Is there any significant

difference between the classes.

Fit an equation of the form y = a + bx + ix2 to the data

given below :

A~ W N o= 4

5

Y
25
28
33
39
46

[20]

The 500 items from a factory are examined and found to be

2% defective. 800 similar items from second factory are found

to have only 1.5 defective. Can it reasonably be concluded that

the product of the first factory are inferior to those of second

1.645)



®)

(c)

A problem in business statistics is given to four students A,

111
B, C and D. There respective chance of solving it are 2°3°5

1
and e What is the probability that problem will be solved

by any two of them.

Explain fully scatter diagram, with its advantages and

disadvantages.

4. Attempt any four : [20]

(a)
(b)
(c)
(d)
(e)
)

[5504]-207

Discuss the weak point of various measures of central tendency.

Comment : Regression equations are irreversible.

What are the main features of Poisson distribution ?
Give the various applications of ‘¢’ distribution in Statistics.
Discuss measures of dispension, indicating their uses.

Explain the types of errors in hypothesis testing.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5504]-208

M.A. (Part I) (I Semester) EXAMINATION, 2019
ECONOMICS
EC-208 : Community Development and Planning
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. — (i) Attempt all questions.
(i1) Figures to the right indicate full marks.

(iizt) Answer should be precise and to the point.

1. Answer any one of the following questions (in 500 words) : [20]
(1) Explain population and social policy in Indian context.

(ii) Elaborate the Schumpeterian Theory of underdevelopment.

2. Answer any one of the following questions (in 500 words) : [20]
(i)  Critically evaluate the plannnig in India.

(ii) Write the theory of dependency.

3. Answer the following questions in 250 words each (any two) : [20]
(i) State the interdependence of social development and the
environment.
(ii) State the International Population Policy.
(ii1) Explain briefly the foundations of social theory.

(iv) Explain fwo case studies of development from India.

P.T.O.



4, Write short notes on (any four) :
(i)  Redistribution of income and economic growth
(it) Social investment and social growth
(ii1) Planning and aid
(iv) Foward and backward linkages in development
(v)  Asset vulenerability framework

(vi) Social capital.

(WS TaIal)

g : diF A TeRUT o1

o :— (i) | WA SAeRIE .
(ii) Sodi%hele Fh YU IO SFifedr.
({ii) JW THHI 9 HLYHT FAHE(.
(jv) USHHIE e TUSH UYTUAh] TRE.

1.  Weiicish! HIVAE TeRT Y= SW 500 =@ fomer .
(i) YR Hewid dikdE STl AHiSieh R0 TR S
(ii) YR A= SAodfammEEn faga fave &

2., Welidys! HIAR Tl J¥R SW 500 Ve[ faer
(i) 9RAE ESEN fehrors HeIHad .

(i) Aacifacr=n faga fomn

3. @ Y3l Ut 250 Vs S feTwl :
() UFieRo STl i ok I TEeRdsid 9.
(i) STASET AhE=N ¥R TS

(iii) gmfser fagid=n 9 el Wse 6.

(jv) YA fIREEEY Hivdel S IS AYE W &

[5504]-208 2

[20]

: 80

[20]

[20]

[20]



4. dieRE fen fem (SR =R [20]
(@) Scoret gAfdymmeft enfor smedfe  faema
(i) Gl Taeues st aneffer gt
(iii) frarsm enfor #ea
(iv) fowEdia qUgeEE ool gvergeEd

(v) HAHA AFRAl ARES]

(vi) HETSS  HrEdd.

[5504]-208 3
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No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5504]-301

Time :

N.B.

M.A. (Part II) (III Semester) EXAMINATION, 2019
ECONOMICS
(EC-301 : Macro Economic Analysis-I)
(2008 PATTERN)

Three Hours Maximum Marks : 80
:— () Attempt all questions.

(ii) Figures to the right indicate full marks.

(iizt) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Answer any one of the following questions in 500 words : [20]
(1) Explain with diagram two sector, three sector and four sector
model of the circular flow of income.

(2) Explain Relative Income Hypothesis of Consumption.

Answer any one of the following questions in 500 words : [20]
(1) What is social accounting ? Explain the components of social
accounting.

(2) Explain Fisher’s approach to quantity theory of money.

Answer the following questions 250 words each (any two) : [20]
(1) Explain the factors affecting marginal efficiency of capital.
(2) State RBI's approach to money supply.
(3) Explain flow of funds accounting.
(4) Explain Liquidity trap and its implications.

P.T.O.



4, Write short notes on (any four) : [20]
(1) Leakages of Investment Multiplier.
(2) Implications of Psychological Law of Consumption
(3)  Principle of Acceleration
(4) High-powered Money
(6) LM Curve
(6) Cambridge Equations.

(W& wUTR)
% : W q™ THUT TOT : 80
I — (i) | WA e
(i) SSEiheld 3k T¥AE YO IO Syifaan.
({ii) SW ARl T WY ITEElq.
(jv) SAEYIH dd Gk AhcAl DIl
(v) TRUERE W TUST YTAUlAH] TRIET.

1. Telddsl HIUEE TEl J9E 3w 500 Ve[ fae [20]
(1) ST TR JARM TF &5, dF &g 9 =R &&d 9faam Adhdias
T FH

(2) YU 9Ue S UR&eddl TS .

2, Wiyl HIVEE TET JE IW 500 VR fawer [20]
(1) 9IS AEhT WU h1F 7 GEISTeh @ ¥esh I .

(2) TRR a1 Jod G fagiaen SRieE e 6.

3. Wielid YAl S ! 250 Sid fawl (ke aF) [20]
(1) ST WiHd hrEeHdaR I HOR Sedh T
(2) o dF= temren Waearn gfea™ @
(3) Tt yoe @A T &L

(4) T TUA A0 & oA TR L

[5504]-301 2



4, 9w fou fagr (wocEE! =w) [20]
(1) TqEURh T[UIRTAT e
(2) SudTTEEHen ARERTStE e st
(3) YeTdA
(4) SoavEt S
(5) UWaw" (LM) 9%
(6) hfstst HHihIL.

[5504]-301 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5504]-302

M.A. (Part II) (IIT Sem.) EXAMINATION, 2019
ECONOMICS
(EC-302 : Economics of Growth)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]
(1) How does capital, labour and technology affect the process

of economic growth ?
(2) Explain the Adam Smith and Ricardo Theory of Development

of Capitalistic Economy.

2. Answer any one of the following questions in 500 words : [20]
(1)  Critically examine the Harrod and Domar Model of Growth.
(2)  Critically examine the Malthusian Theory of Development.

3. Answer any two of the following questions in 250 words each : [20]
(1) Explain the characteristics of growth.
(2) Explain the theory of social change.
(3) State the capital controversy.
(4) Explain the growth model of Pasinetti.

P.T.O.



4, Write short notes in 100 words each (any four) : [20]
(1)  Growth model of Kaldor
(2) Innovation
(3) Intellectual capital
(4) Optimal saving
(56) Role of credit and profit in capitalism
(6) Embodied and disembodied technique progress.

(TS wUIa)
% : W q™ THUT TUT : 80
g — (i) |d YA AvEAE  3Aed.
(i) TE=A SSEhel® ek Ul IO SEifddn.
(i) AERgH d9 Yok Akl HIal.
(iv) HeWHES W TUSH WETULTR UemEl.

1. Eciadsl HUER TR g 500 ¥&[ S| forer [20]
(1) onfdw g5t wfrda aieaw, 99 onfol o99FM Amn w 1 YR uRomm
Brdl.
(2) of g oo Reprel A= Jiedenmel sideawen faem fagma s
.
2. WIcis! HIVUER Tkl TR 500 ¥ S foer [20]

(1) -8 Ir=n Afdw ggi gfaamre fewrms qderm &
(2) WeIE I e faem fagam feshrds T .

3. Weid YTl Yl 250 vegid Sw fawl (SvkEl @) : [20]
(1) gt aferse T &wq

(2) TS dearn fagia T &

[5504]-302 2



(8) wiead faienyr® 9
(4) dfaS = enfdew gt wfqam.

4., Wed A9 &R 100 V<[ fag (R |n) [20]
(1) @FeerR I= g Afaam
(2) TGl
(3) IgiH-aiedd
(4) 9w w=q

(5) Ud A AR A WSTeRMEdA e

(6) oFya omfor foR sfmym @ifsre W

[5504]-302 3



Total No

. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[56504]-303

M.A. (Part II) (Sem. III) EXAMINATION, 2019
ECONOMICS
EC-303 (A) : Research Methodology
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(

(i) Attempt All questions.
(ii) Figures to the right indicate full marks.

ii1) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(@)
(i1)

Explain the importance and utility of social science research.

Explain mean, median and mode with the help of examples.

2. Answer any one of the following questions in 500 words : [20]

(2)
(it)

Explain the various methods of collection of data.

Describe the stages in report writing.

3. Answer the following questions in 250 words each (any two) : [20]

(@)
(11)
(i11)

(tv)

What are the systems available for information ?
Explain the process of hypothesis testing.

Distinguish between research methods and research

methodology.

What are the different types of questionnaire ?

P.T.O.



4, Write short notes on any four : [20]
(i) Interview
(11) Questionnaire construction
(iii) Chi-square test
(iv) Types of graphs and their utility
(v)  Co-relation

(vi) Advantages of computerised data processing.

(W& BUIW)
q% : | A THUT TUT : 80
o t— () WE URA RIS SR
(i) 3SEleld 3k YU O SRifer.
(iii) SW "HH! o HLHS SEME.
(iv) TRWEES! ¥@ ST TRAUARI TR

1. Greiadsl HIVEE Tl J9= SW 500 e[ fagr . [20]
() U IS RN q8c J  SUAINTal T .

(i) TIfoTdHTER, Hewm oMUl Sgeieh ATd SAIGUUMSAIGR TISAHIU L

2. WCAcUsh! DR Tl Y™ S 500 g ferer : [20]
() Uifgdt Hhomrem fafay ugdl T &AL
(ii) TIMEH 3Ra aeddia fafay TR e &L

[5504]-303 2



8. Wil gyl Yokl 250 IS S @ (RIvEr @) [20]

(1) HIfed! ThoUATIS! HIVHIUAT YUl STAsd 3Ted 2

(i) STAM YU gfRdr T A
({ii) TIMEE TSt MO WINEE Ugdl IHY Wk h.

[N o)

(Gv) Yyatae fafgy YR wiod smed ?

4, WATAYR] HIUEE TR diedd aa fown . [20]
(1) HemEd
(i) TSRl Sneron

(iii) HE-THASR =T (chi-square test)

(jv) @™ UHR d A STFER
(v) HEHaY
(vi) TUERIGT S YHIID .

[5504]-303 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5504]-304

M.A. (Part II) (Sem. III) EXAMINATION, 2019
ECONOMICS
EC-303 (B) : Econometrics
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iizt) Answers should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

(v) Symbols have their usual meaning.

1. Answer any one of the following questions : [20]

(i) The following table gives the data of rice yield and usage of
pesticide on 10 plots of land.

Rice Pesticide

(Y) (X)
40 6

44 10
46 12
48 14
52 16
58 18
60 22
68 24
74 26
80 32

P.T.O.



(11)

2. Answer any one of the following questions :

(2)

(i1)

[5504]-304

(a) Estimate the linear regression of Y on X.

(b) Test the significance of the regression coefficient at 5%

level of significance.

What is multicollinearity ? Discuss sources, consequences and

remedial measures of multicollinearity.

[20]

Compute the Karl Pearson’s correlation coefficient between X

and Y provided below :

X
167.8
173.1
176.2
180.0
186.2
190.7
195.2

Y
260.8
272.8
285.6
2971
310.1
323.2
336.2

State the reduced form equations for the following structural

equations and test whether the parameters of the demand and

supply equations are identified or not using indirect least squares

q=a, +bp+u, » Demand

q=a,+b,p+c,R+u, > Supply

method :

where :
g = quantity
p = price
R = Rainfall.



[5504]-304

3. Answer any two of the following questions : [20]
(i) State the assumptions of ordinary least squares method.
(ii) Explain rank and order conditions of identification in simultaneous
equations model.
(iiz) State and explain features of profit model.
(iv) What are dummy variables ? Explain how dummy variable can
be used in linear regression model.
4, Answer any four of the following questions : [20]
(i) State the economic applications of time series analysis.
(i1) Explain vector autoregression (VAR) as a forecasting technique.
(iiz) Explain confidence interval approach to hypothesis testing.
(iv) Explain the methology of econometric research.
(v) Explain type-I and type-II error.
(vi) State different models of time series.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5504]-305

M.A. (Part II) (III Semester) EXAMINATION, 2019

ECONOMICS
(Optional Paper)
EC-304 : Banking and Financial Institutions
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt all questions.
(ii) Figures to the right indicate full marks.
(iit) Answer should be precise and to the point.
1. Answer the following questions in 500 words (any one) : [20]
(1) Explain the structure and role of financial system in India.
(2) Explain the banking sector reforms in India.
2. Answer the following questions in 500 words (any one) : [20]

(1)

(2)

Explain the role and working of Industrial Finance Corporation
of India.

Explain the functions and working of International Monetary
Fund.

3. Answer the following questions in 250 words each (any two) : [20]

(1)
(2)
(3)
(4)

Explain the functions of financial sector in India.
Explain the growth of commercial banks in India.
Explain the nature of Non-Banking Financial Institutions in India.

Explain the determinants of foreign capital flow.

P.T.O.



4, Write short notes on (any four) : [20]
(1) Reserve Bank of India
(2)  Co-operative Banks
(3) Life Insurance Corporation of India
(4) Small Industries Development Bank of India
(6) International Finance Corporation

(6) Foreign Exchange Market.

(W@ T UI)
9@ @ dF ™ THUT T : 80
W:—(i)ﬂﬁgﬂ@w.
(ii) Sod%hele Fh YU IO SFifedr.
(i) IW -HRI 9 Hega STHEmM.

1. @eid geE W 500 V[ fag (FIUEAED TeR) [20]
(1) 9Rdrdtel foxita SgeRd=it &M 9 Yl T 6.
(2) YRAMIA AR SAA GUROT T H.

2, Wl YAl W O500 ViR ol (VAR UeR) [20]
(1) 9RdE ofefier fou wemeer yfier suftl wRiusdt T &4
(2) oAU AmfeR wE enfn SRiusdl TR .

3. Gt 9=l S Ykl 250 IS foer (Sivgt 9F) [20]

(1) 9Rada foxita &= & W &
(2) YRAMA AU dwET g5 TR B
(3) YRAa dohR foxia TEAE WEY TR H
(4) foosft veae yar™ fRye wed TR FHA.

[56504]-305 2



4, a1 fa@ (FUEE W) [20]
(1) vRdE fed o
(2) WEHH S
(3) YRdE SAYfHHT HEHEe
(4) 9ORdE oTg=En ARt fowm o
(5) AqWeE faaq HRmE®s
6) foosft wem fafma sR.

[5504]-305 3
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[Total No. of Printed Pages—3
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No.

[5504]-306

M.A. (Part II) (IIT Semester) EXAMINATION, 2019

ECONOMICS
Optional Paper
EC-305 : Welfare Economics
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) Attempt all questions.

(i1) Figures to the right indicate full marks.

(iizt) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(@)

(i1)

Make a comparison among production, optimum, consumption

optimum and social optimum.

What is Pareto optimality ? Explain briefly the conditions of

Pareto optimality.

2. Answer any one of the following questions in 500 words : [20]

(@)
(i1)

Explain

in detail Samuelson’s utility possibility curve.

What is optimum resource allocation ? Explain the importance

of optimum resource allocation in welfare maximization.

3. Answer the following questions in 250 words each (any two) : [20]

@)
(i1)
(ii1)
(iv)

Explain
Explain
Explain
Explain

Kaldor and Hicks contribution in welfare economics.
Bergson’s social welfare function.
in brief Marshallian welfare economics.

the principle of compensating variations.

P.T.O.



4, Write short notes on any four : [20]
(i) Arrow’s impossibility theorem
(i1) Scitovsky double criterion
(itz1) External economies
(iv) Top level optimum
(v) Marginal cost pricing

(vi) Issues in income distribution.

(W& ®UI)
9% : dF A Tehut ToT : 80
o — () ¥d WA Hiea
(ii) Sodi%hele Fh YU IO SFifedr.
({ii) I THH! ° LS STHE(.

(jv) USHHIE e TUSH UYTUAh] TRE.

1.  Weliciish! SR TRl Y9 500 ¥ Sk forl [20]
(1) STREA YA, SUNRT UATRIOT MU AR Aol e
o H

(1) WA THA WUS hEF 7 WAl TRHT 3T dieddd TR Hh.

2, Weliads! HIVEE TRl YR 500 IR SaRk fawr [20]
(i) HHUAETEl YR IRl g% 9iawR TR 6L
(ii) YUY YW foao WuSl i ? WA UAiW fadaieme shedno

e IR Uil Heed T il

3. Wil YAl WA 250 V=M Sl folel (R gF) [20]
(i) Hheer oM feam AR FANBRI AAIMECA AEH T H.
(i) WET A GHIMSR HedUl Hed T
({ii) TR A= HAURN A G TR L
(jv) WUE kA dd TR H.

[5504]-306 2



4, died I foer (HUdE \mw) [20]
() = v fHgr
(ii) Terdegehi=an ged ey
(i) <ed st
(tv) 3J=dAdH SEEAHA
(v) ¥ T gt
(vi) 3O fawrsHEde e

[5504]-306 3
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[5504]-307

M.A. (Part II) (III Semester) EXAMINATION, 2019

ECONOMICS
Optional Paper
EC-306 : Economics of Finance

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) Attempt all questions.

(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(2)
(it)

Define securities. Explain the general features of securities.

Explain

in detail the functions and working of SEBI.

2. Answer any one of the following questions in 500 words : [20]

(@)
(i1)

Explain
Explain

in detail ‘Capital Asset Pricing Model’.

in detail the types of derivative market.

3. Answer the following questions in 250 words each (any two) : [20]

(2)
(i1)
(ii1)
(iv)

Explain
Explain
Explain
Explain

the efficient market hypothesis.
the types of stock flow.
the mechanics of swap.

the features of forward contracts.

P.T.O.



4, Write short notes on (any four) : [20]
(i)  Stock Indices
(it) Government Bond
(iti) Net Present Value
(iv) Over the Counter Market
(v)  Speculators
(vi) Index-linked Bonds.

(W@ T UI)
% : W q™ THUT T : 80
I — (i) |8 WA e
(i) ST FE qu o eI,
(iii)) Sl "% 9 HgS SAHrEl.

(jv) USHHIS s TUSH UYAUAh] TRE.

1.  Teidis! HIOER Tl I 500 I&EM SaRk foel e [20]
(i) Ffayd=h =ren <o giayd=i gamERe gt T w9

(i) Gd=T FE 9 FHBNS GO TR HA.

2, TClicish! HIVAR TR U 500 ¥&M e fo@l [20]
(i) wiede AeY@l fohad Ifaae s .

(i) ST SN bR HiaxR T 6.

3. Tfial el Y 250 VR Saik forel (HIUdE /) e [20]
(i) HEYH TER TR T H

(i) UG YA YhR W H.
({ii) SIEAEEArE (swap) I T H.
(Gv) dEe KA AfySE TS HA.

[5504]-307 2




4, diera du fag (g =\ w) [20]
() W@ faceme
(i) WHH @
(iii) T Idam g
(jv) wla fafma dER
(v) FLES
(vi) Tem® o= @

[5504]-307 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5504]-308

M.A. (Part II) (III Semester) EXAMINATION, 2019
ECONOMICS
EC-307 : Economics of Environment
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iiz) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(1) What is environment ? Explain the different types of
environment.

(ii) Explain the instruments for controlling water and air pollution.

2. Answer any one of the following questions in 500 words : [20]
(i) Explain in detail the effects of environment in human lives.

(ii) Explain the theories of optimal use of exhaustible and renewable

resources.

3. Answer the following questions in 250 words each (any two) : [20]
(i) Explain the concept of Sustainable Development.
(ii) Explain the role of environment education in controlling pollution.
(iiz) Explain the benefits of social forestry.
(iv) Explain the new model of pollution control.

P.T.O.



4, Write short notes on (any four) : [20]
(i)  Environmental and W.T.O.
(iz) Environmental Values
(itzi) Household Production Model
(fv) Human Capital
(v) Central Pollution Control Board

(vi) Environmental Laws.

(W& w W)
q% : || A THUT T : 80
o :— () |8 WA Hien
(ii) ISfiwSle FF YU U GEifar.
(fii) W FHGI F HeHE STHHE.
(jv) TeUEE Yoo TUST YvAUCAHRT TRIET.

1.  TClcis! SR TRl Y- Sak 500 vseE forer [20]
(1) T BUN S ? WEaom fafay geR o &
(2) SBYGEU & TAYGHU AU HEH WS HAL

2, Teliicie! HIVER TR 999 3ak 500 ¥ fofer : [20]
(1) oEeRum= Al Sfiededa SR aikome gfae) e &
(2)  FRMEURT g ST YAEssiiad FEre Jr=1 arsial STAn hvdreg Hidid
faga = .

3. @ciads! YIAE Y 250 VRM SW fotel (FVGE &) [20]
(1) vmad fow™mET Hhed r W= 4.
(2) g fresdls wafawer fugom=t i T .
(3) WIS SO HEe T .
(4) vguuw fEEoe FEEm gfiam T &L
[6504]-308 2




4, dgHEE@ A el (SR \w) [20]
(1) vAeRo offr SWifas SATIR Hee]
(2) TR Hed
(3) wIEfa® IURA YfqdH

(4) " YrSde
(5) <hfsa wguw v Hexs
(6) TIENA  HIIS.

[5504]-308 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5504]-401

M.A. (Part II) (Sem. IV) EXAMINATION, 2019
ECONOMICS
EC-401 : Macro Economic Analysis-II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer the following questions in 500 words (any one) : [20]
(i) Explain the structuralist theory of Inflation.

(i1) Explain the effectiveness of monetary and fiscal policy to control

business cycle.

2. Answer the following questions in 500 words (any one) : [20]
(i)  Critically examine the Keynesian theory of Interest.

(ii) State the explain Tobin’s model of demand for money.

3. Answer the following questions in detail with 250 words each
(any two) : [20]

(i) Explain the short-run and long-run Phillip’s curve.

P.T.O.



(ii) State and explain Monetarist Approach to Inflation.

(iit) Explain the extension of IS-LM model with Government
Sector.

(fv) Discuss the natural rate of unemployment hypothesis.

4, Write short notes on (any four) : [20]
(i) Keynasian thoughts
(i1) Goodwin’s model of trade cycle
(ii1) Tobin’s modified Phillips curve
(iv) Neo-classical theory of Interest
(v) Keynesian approach to Inflation

(vi) Classical thoughts.

(W& wuTar)
9% : i a™ THUT TUT : 80
ol — () FWd uE Hied
(ii) STEheld e YO O SRifor.
(iii) A A fohoft Felsh TR el
(jv) USHHES Tes TUSH UYAUAR] TRE.

1. Told el 500 ¥k SR fofel (RIVAEl Weh) [20]
(i) FoFaRE SEaER! f9g| W #wd.

(ii) AUR=E% UFomHed IoHiaudes o oIS HRuT=l  qRumaehRehd]
W F

2. Weid JEAET 500 IEM SW ARl (FIUAE TR) [20]

() &= e fagam fewas T &

(i) Uvmem HEie Afeme YfdwE 9 o9 s &L

[5504]-401 2



3. WEld YA YAl 250 V=M SW faw (FURE qF) [20]
(i) SAcuwEiE o foHweia frfaw o T .
(i) TAEEE AR gt R 9 T A
(iii) IS-LM 9fqamrn wmdfea &emsft faar s =
(iv) SN TEfte S Yl == w

4. dieRE feq fom (FivdE =@wX) [20]
@) HEd faEr
(ii) TiEfoT™ =AOREh  idHH
(ii7) <Mfeq=n guiia fwfasw o

Gv) ANET JaEaeT fagE
(v) FCHARITI® HAAT GIIhIT
(vi) AR fa=Emr.

[5504]-401 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [5504]-402
M.A. (Part II) (IV Sem.) EXAMINATION, 2019
ECONOMICS
EC-402 : Economics of Development
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.
(iiz) Answers should be precise and to the point.

(iv) Draw a neat diagram wherever necessary.

Answer the following questions in 500 words (any one) : [20]

(i) Discuss the theory of Demographic Transition in Indian

context.

(ii) Explain fully ‘Big Push’ Theory of economic growth.

Answer the following questions in 500 words (any one) : [20]

(i) Discuss the importance of infrastructure in agriculture and

industrial development.

(i1) ‘International trade is an engine of growth.” Discuss.

Answer the following questions in 250 words each (any two) : [20]

(i) Distinguish between Absolute and Relative Poverty.

P.T.O.



(ii) Explain the concept of technical dualism.
(iiz) Explain the role of agriculture in economic development.

(iv) Explain the types of borrowing.

4, Write short notes in 100 words each (any four) : [20]
(i) Food security
(i) Vicious circle of poverty
(iiz) Balanced growth
(fv) Small scale production
(v) Staic gains from trade

(vi) Burden of borrowing.

(TS ETUIaR)
9% : 9 a™ THUT TOT : 80
o — () WE URA e
(ii) S9ERSd 3Tk YU U o
({ii) IW AR I Hegg ATMEI.
(jv) AEg® dd gk ARA hlaQ.
(v) TRHEE T TUSH YYAUAR] TRE.

1. S Yol W 500 ¥R ol (FvaRl Ueh) [20]
(1) REEN HAITA fagidmEl YRAe Gevid 9=l .

!

(i) offds ggr=n ‘Tas waEeh’ faga dfamR W &

2. TEla JEARET IW 500 V=@ fa@ (HIOAE TEw) [20]
() It 3 il fawEnda STYRYA TEWEN Wt 9=l @
(i) ‘AN MR e T I A 9=l Hd

[5504]-402 2



3. Wi YAl W YAH! 250 V=@ forel (v g [20]
() Ty afew snfo 9oy Sy Id 98 .
(i) <t fgfawd=l Fwhednm T= H.
(iii) oMfeer foshrardial o=l yfHes T &

(Gv) HIE YRR TR H.

4, gEH@ 100 ¥=E U fa@ (SRR 9w®) [20]
(i) A= gIiEgaan
(i) <RGN g 9%
(iii) FAdA gal
(fv) <M YHIMRIA 3
(v) RS fHeurr fedeia ™
(vi) helET YR

[5504]-402 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5504]-403

M.A. (Part II) (IV Semester) EXAMINATION, 2019
ECONOMICS
EC-403 : International Economics
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer the following questions in 500 words (any one) : [20]

(i) Explain critically the Comparative Cost Advantage theory of
international trade.

(iz) What is exchange control ? Examine the methods of exchange

control.

2. Answer the following questions in 500 words (any one) : [20]
(i)  Describe the changes in the composition of India’s foreign trade

since 1991. What do these changes indicate ?
(ii) What is Balance of Payments ? Explain in detail the components

of Balance of Payments.

3. Answer the following questions in 250 words each (any two) : [20]
(i) Explain the role of Multinational Corporations in India.
(ii) Explain Leontief Paradox.
(ii1) Explain briefly the types of Terms of Trade.

(iv) Describe the merits and demerits of fixed exchange rate.

P.T.O.



4, Write short notes on (any four) : [20]
(i) Assumptions of Heckscher-Ohlim theory of international trade
(ii) Types of Tariffs
(iit) Causes for disequilibrium in Balance of Payments
(iv) Measures for export promotion
(v)  Objectives of International Monetary Fund

(vi) Structure of World Trade Organization.

(W& wUTR)
% : i q™ THUT T : 80
ol :— () 98 WA dredn
(ii) 3IdHete Fw Yo IO SFifear.
(fii) IW ! ST Hygg  srdrfed.
(iv) SETg® dd gk ATk DIl
(v) TRUEE W TUST YTAUlAHl TRIET.

1. Geid el 500 Y[ SW Rl (SivdE WeR) [20]
(i) SIS AR ddeh IRead a9 fagrae fesmmas st
<.

Gi) fafma fewm woe s ? fafae fasom=n ggdie e &

2, Told YAl IW 500 IR Rl (HIvEEl Weh) [20]
(i) ¥Nare e AN EAdE 1991 T Skad 9U 6 R
9eel S qEifadd  ?

(ii) HTRRA WS % ? FOeRdid e dfdtal T H.

3. Eeftd YeAEr W OYAS! 500 Vg folel (FI0El 9F) [20]
(i) “EUNHE HYAE YR iRl T
(i) faA=Ie=n foQayE e &7
(i) SR VA9 YHR G T H.
(v) Ter fafa <= qU-TY a0 &

[5504]-403 2




4. diewd fem fog (SR WR) [20]
() SRS AR RFeR-efer fagrart fed

(i) UXEHE THR

(iii) ATERAIANIA AGTE  HROl
(v) THEE dERTEREE U™
(v) SAATsEE A0 AR Sfese

(vi) SN NI o=t =

[5504]-403 3
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No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[56504]-404

Time :

N.B.

M.A. (Part II) (IV Semester) EXAMINATION, 2019
ECONOMICS
EC-405 : History of Modern Economic Analysis
(2008 PATTERN)

Three Hours Maximum Marks : 80
:— (1) Attempt all questions.

(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Answer any one of the following questions in 500 words : [20]
(i)  What is the main contribution by Paul Krugman for understanding
the concept of ‘Globalization’ ?

(i1) Critically explain theory of value of Hicks.

Answer any one of the following questions in 500 words : [20]
(i)  Explain in detail the contribution by Meade in international trade.

(ii) Explain the classical approach of inflation.

Answer any two of the following questions in 250 words : [20]

(i) Explain Ohlin’s Theory of International Trade.

(it) State the contribution by Gunnar Myrdal in Development in
Economics.

(ii1) Explain Portfolio theory by Tobin.

(fv) Explain the Impossibility Theorem by Arrow.

P.T.O.



4, Write short notes on (any four) : [20]
(i) Welfare Economics by Amartya Sen
(ii) Goodwin’s Model
(iizr) Nash equilibrium theory
(iv) Revealed preference
(v) Game theory
(vi) IS-LM model by Hicks.

(TS E'UIa)
q% : || A THUT T : 80
o :— () |8 WA Hien
(ii) ISfiwSle FF YU U GEifar.
({ii) IR THH! o Hege ITHMEd.
(iv) SAEI®R dd Gk AhcAl DIl
(v) TRHEE! H@ TUSH TRAUCIR TRTE.

1.  Teiads! TRl Y99 500 ¥gid St forgl [20]
(i) 'SITdehiRul’ Heheddl THSIEGT AFUA Wi GRSl R HWEWRT B 7
(ii) Terar=n qeafggiare fokreas alRemr &

2., Wiyl HIVEE TEwT J9E IW 500 VR fa@r [20]
() AAW=E MR favaa Hew ANeHE TR &
(ji) FoHdeEl gaadere faga TR &

3. Wicis! HUME g Y ! 250 [ Sw faRr [20]
() STeclT=n AqwWsdy R faga s &
(ii) fowmr=n sdvmETda TR OfERlde 9neE |
(iii) 2reien JewE faga e &
(fv) o= e fagd o= &
[6504]-404 2




4, diedd dw foer (FHUEE \w) [20]
() WA U9 AW HeAURR ALY

(i) TEfora gfaam

({ii) oren Oqem foga

(jv) W TEd

(v) 9Fa faga

(vi) Tfea= IS-LM 9faaM.

[5504]-404 3
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